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

 is the explanatory use of the postpositive conjunction GAR, meaning “For” plus the nominative subject from the neuter singular adjective HEKASTOS and the noun DENDRON, meaning “each tree.”  Then we have the preposition EK plus the ablative of means from the masculine singular article, adjective IDIOS and noun KARPOS, meaning “by its own fruit.”  This is followed by the third person singular present passive indicative from the verb GINWSKW, which means “to be known.”


The present tense is an aoristic present, which presents the action as a timeless fact.


The passive voice indicates that each tree receives the action of being known.


The indicative mood is declarative for a simple statement of fact.

“For each tree is known by its own fruit.”
 is the explanatory use of the postpositive conjunction GAR, meaning “For” with the negative OU, meaning “not.”  Then we have the preposition EK plus the ablative of origin/source from the feminine plural noun AKANTHA, meaning “from thorns.”  This is followed by the third person plural present active indicative from the verb SULLEGW, which means “to gather, collect.”


The present tense is an aoristic present, which presents the action as a timeless fact.


The active voice indicates that people in general do not produce the action.


The indicative mood is declarative for a simple statement of fact.

Then we have the accusative direct object from the neuter plural noun SUKON, meaning “figs.”

“For they do not gather figs from thorns,”
 is the negative conjunction OUDE, which means “nor” when used after a previous negative.  Then we have the preposition EK plus the ablative of origin/source from the feminine singular noun BATOS, meaning “from a thorn bush.”
  This is followed by the accusative direct object from the feminine singular noun STAPHULĒ, 
meaning “grapes.”  Finally, we have the third person plural present active indicative from the verb TRUGAW, which means “to harvest.”


The present tense is a gnomic/aorist present, which describes a universal truth as a timeless fact.


The active voice indicates that people in general do not produce the action.


The indicative mood is declarative for a simple statement of fact.

“nor do they harvest grapes from a thorn bush.”
Lk 6:44 corrected translation
“For each tree is known by its own fruit.  For they do not gather figs from thorns, nor do they harvest grapes from a thorn bush.”
Mt 7:16, “You will know them by their fruits.  Grapes are not gathered from thorn bushes nor figs from thistles, are they?”

Jam 3:12, “My brethren, a fig tree is not able to produce olives or a grapevine figs, is it?  No, of course not.  Neither is salt water able to produce fresh water.”

Explanation:
1.  “For each tree is known by its own fruit.”

a.  Having said that good trees do not produce bad fruit and bad trees do not produce good fruit, Jesus continues the analogy with the explanation why this is true.  It is true because each tree is known by what kind of fruit it produces.


b.  For example, an apple tree is known by the good apples it produces, while an oak tree is known by the acorns it produces, which are not good to eat.  Each tree is known by its own fruit.  Obviously some trees produce no fruit at all, but are only shade trees.


c.  The point of the analogy is that some people are believers in the Messiah and produce good fruit for God by believing in Him, while other people are unbelievers and produce no fruit for God or bad fruit in the form of evil.  Another point of the analogy is that each person is known by what they do in their life, and in the next verse by what comes out of their mouth in what they say.

2.  “For they do not gather figs from thorns,”

a.  Jesus continues with a further explanation, continuing the illustration.  The subject “they” refers to people in general who harvest the fruit from the trees.  The example is taken from harvesting the figs from a fig tree.


b.  The subject “they” might be analogous to the elect angels regathering Israel.  The figs represent believers, who are the good fruit in the continuation of the analogy.  The thorns represent the ‘fruit’ of a bad tree.  The analogy of thorns to unbelievers is taken from Jesus’ words in Lk 8:14, “The seed which fell among the thorns, these are the ones who have heard, and as they go on their way they are choked with worries and riches and pleasures of this life, and bring no fruit to maturity.”
3.  “nor do they harvest grapes from a thorn bush.”

a.  Jesus continues the explanation with another example.  People do not harvest grapes from a thorn bush.  Even though the grape vine and thorn bush are not trees, the example still applies perfectly.  Good fruit comes from a grape vine, while nothing good comes from a thorn bush.


b.  By analogy good fruit comes from the person who believes in Christ, but nothing good comes from the unbeliever.  Someone might raise the objection that there are believers who produce no good fruit, just as Paul teaches in 1 Cor 3:12,-15, “If anyone builds upon the foundation gold, silver, valuable gems, various kinds of woods, grass, straw, the spiritual accomplishment of each person will become visible, for the day reveals [it], because it will be made fully known by means of fire, that is, the fire will test what sort of accomplishment is the accomplishment of each person.  If the work of anyone survives, which he has built, he will receive a reward.  If the work of any person is completely burned up, he will suffer loss, but he himself will be saved, but [he will be saved] in this manner as through fire.”  However, Jesus’ analogy is just dealing with the subject of believer versus unbeliever, not the amount or quality of the believer’s production.


c.  Even though some believers produce little or no divine good in their spiritual life after salvation and ‘suffer loss’ of ‘reward’, that believer is still ‘saved’, which is a great accomplishment by God and a tribute to the love, grace, righteousness, justice and faithfulness of God.

4.  Commentators’ comments.


a.  “Jesus gives the explanation that the nature of the tree is revealed by its fruit.  The principle is followed by two more illustrations: figs and grapes do not come from thorn bushes or bramble bushes.  The point of the passage agrees with the illustrations of the previous verse: you will produce what you are and not something different.  In connecting this text with the previous verses, the idea is to take a careful look at oneself and note the fruit produced.  The primary intent is self-examination, not examination of others.  Watch what you produce and make sure that the one whom you follow gives good produce.”


b.  “In terms of ministry, servants of God who are faithful will reproduce themselves in people who are in turn true to the Lord (2 Tim 2:2).”
  This is an application of the principle, but not the explanation of the analogy.

c.  “The idea of harvesting grapes from a thorn bush is comical and ridiculous—and Jesus wants his hearers to catch the humor.  Why do people not try to do this?  Because they have learned to judge every tree, bush, etc., by its fruit.  So it is in the case of men.”
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